
SAP ABAP table SI_SKA1 {G/L Account Master Record (Chart of Accounts)}

SI_SKA1

BILKT [CHAR (10)]

KTOKS [CHAR (4)]

MUSTR [CHAR (10)]

VBUND [CHAR (6)]

FUNC_AREA [CHAR (16)]

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]
 SI_SKA1-BILKT = SKA1-SAKNR 0..N

{0,1}

SKM1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

MUSTR [CHAR (10)]
 SI_SKA1-MUSTR = SKM1-MUSTR 0..N

{0,1}

T077S

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KTOKS [CHAR (4)]

 SI_SKA1-KTOKS = T077S-KTOKS 
0..N1

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 SI_SKA1-VBUND = T880-RCOMP 

0..N

1

TFKB

MANDT [CLNT (3)]

FKBER [CHAR (16)]

 SI_SKA1-FUNC_AREA = TFKB-FKBER 

0..N

0..N


